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Test 1

Part I Listening Comprehension

Section A »

Directions: In this section, you will hear three conversations. At the end of each conversation ,
several questions will be asked about what was said. Both the conversation and the questions will be
spoken only once. After each question there will be a pause. During the pause, you must read the
four choices marked A), B), C) and D), decide which is the best answer. Then mark the

corresponding letter on the Answer Sheet with a single line through the centre.

Conversation One
Questions 1 to 3 are based on the conversation you have just heard..
1. A) Tourism can bring a lot of easy money.
B) Tourism can build the reputation of a country.
C) Tourism needs the help of the government. -
D) Tourism has developed into a big industry.
2. A) The restoration of historic sites.
B) The construction .of new resorts.
C) The promotion of international sports.
D) The protection of national parks.
3. A) Critical.
B) Positive.
C) Concerned.
D) Indifferent.

Conversation Two
Questions 4 to 6 are based on the conversation you have just heard.
4. A) He hates travelling all the time.
B) He wants to have more time with his family.
C) He desires to have more opportunities.
D) He is tired of doing the same work all his life.
5. A) In the centre of the city.
B) In the suburbs.
C) Near big corporations.
D) In a commercial centre.
6. A) He has sent in his letter of resignation.

B) He has sent in his letter of application.
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C) He has had an interview with one of the companies.

D) He has moved his house near his company.

Conversation Three

Questions 7 to 10 are based on the conversation you have just heard

7. A) At a neighbour’s house.
B) At a movie theatre.
C) At the speakers’ home.
D) In a school classroom.
8. A) A western film.
B) A science fiction film.
C) A detective story film.
D) A war film.
9. A) The doctor.
B) The captain.
C) The enemy.
D) The communications officer.
10. A) Positive.
B) Objective.
C) Critical.
D) Interested.

Section B

Directions: In this section, you will hear three passages.. At the end of each passage

questions will be asked about what was said. Both the passage and the questions will be spoken only

once. After each question there will be a pause. During the pause, you must read the four choices

marked A), B), C) and D), decide which is the best answer. Then mark the corresponding letter

on the Answer Sheet with a single line through the centre.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) They attend a class without the use of textbooks.

B) They participate in foreign language activities.

C) They try to speak a foreign language all the time.

D) They learn a foreign language with the help of teachers.
12. A) The motion of planets and stars.

B) The formation of a great storm.

C) The experience of airplane pilots.

D) The knowledge of weather experts.
13. A) To teach campers practical skills.



PR AIRBEXEL XIS

B) To offer basic knowledge of different kinds.
C) To provide courses they may learn in a new term.

D) To help campers gain experience of daily life.

Passage Two
Questions 14 to 17 are based on the passage you have just heard.

14.

15.

16.

17.

A) There is no mistake in the diagnosis.

B) There is no need to have an operation.

C) The hand needs further examination.

D) The hand needs immediate treatment.

A) To ensure a correct operation for newborn babies.
B) To exchange the latest developments of medicine.
C) To work out a best medical treatment for patients.
D) To reduce very serious medical mistakes.

A) Poor handwriting of doctors.

B) Wrong orders from doctors.

C) Similar names of patients.

D) Incorrect spelling of a medicine’s name.

A) To see whether a patient reacts to treatment.

B) To ensure that a patient will take correct medicines.
C) To construct a patient’s full-scale health account.

D) To follow a patient’s medical treatment.

Passage Three

Questions 18 to 20 are based on the passage you have just heard.

18.

19.

20.

A) Food processing.

B) Environment protection.

C) Shopping habit.

D) Overpackaging problem.

A) They help people save time on housework.
B) They go into the garbage heap.

C) They are harmful to the environment.

D) They make products more expensive.

A) Take their own bags to the grocery store.
B) Buy things that are overpackaged.

C) Not buy cloth towels.

D) Not throw away their cloth napkins.
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Test 2

Part I Listening Comprehension

Section A

Directions: In this section, you will hear three conversations. At the end of each conversation,
several questions will be asked about what was said. Both the conversation and the questions will be
spoken only once. After each question there will be a pause. During the pause, you must read the
four choices marked A), B), C) and D), decide which is the best answer. Then mark the

corresponding letter on the Answer Sheet with a single line through the centre.

Conversation One
Questions 1 to 3 are based on the conversation you have just heard.
1. A) Beautiful scenery of the South Pacific.
B) Leisurely way of sightseeing.
C) The friendliness of fellow passengers.
D) The excellent service provided on board.
2. A) Young people.
B) Business people.
C) People who are alone.
D) Old people.
3. A) His neighbour.
B) His friend.
C) An office colleague.
D) A travel agent.

Conversation Two

Questions 4 to 6 are based on the conversation you have just heard.

4. A) He finds his work less exciting.
B) He does not reach the age of retirement.
C) He wants to have a full pension.
D) He hasn’ bought a house in Florida.

5. A) Retirement may cause some psychological problems.
B) Retirement may bring some financial troubles.
C) Life in the company is more exciting than retirement.
D) Benefits are proportional to the years he works.

6. A) A man who doesn’t mind a simple life.
B) A man who plays a lot in his spare time.
C) A man who wants to enjoy a full life.

D) A man who likes travelling.



6 HRBERELEL K

Conversation Three
Questions 7 to 10 are based on the conversation you have just heard.
7. A) It is the wrong size.
B) It is a Chinese style.
C) It shrinks greatly.
D) Iis colour fades easily.
8. A) The man bought the sweater at a discount.
B) The man no longer has the store receipt.
C) She follows the store’s return policy.
D) She thinks the man didn’t read the instructions.
9. A) During the national holiday.
B) Five days ago.
C) Seven days ago.
D) Fifteen days ago.
10. A) The store clerk has to report to the manager.
B) The store clerk has to return the man’s money.
C) The man succeeds in exchanging his sweater.

D) The man leaves the store without his sweater.

Section B

Directions: In this section, you will hear three passages. At the end of each passage, several
questions will be asked about what was said. Both the passage and the questions will be spoken only
once. After each question there will be a pause. During the pause, you must read the four choices
marked A), B), C) and D), decide which is the best answer. Then mark the corresponding letter

on the Answer Sheet with a single line through the centre.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) It provides more job opportunities in Hong Kong.
B) It basically satisfies the local seafood needs.
C) It still imports seafood from China mainland.
D) It has grown twice as much as 10 years ago.
12. A) They caught more fish than today.
B) They made less money than today.
C) Their families had some jobs on land.
D) Their boats were small and unreliable.
13. A) The use of more technically advanced boats.
B) The decrease in the number of fishing boats.
C) The increase in the number of opportunities on land.

D) The change in the pattern of modern family life.
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Passage Two
Questions 14 to 17 are based on the passage you have just heard.
14. A) The disadvantages and advantages of large towns.
B) The problem of the present growth of large towns.
C) The loss of agricultural land in the urban growth.
D) Industrialization in the developed countries.
15. A) How many large towns and cities there are.
B) How people move from country to town.
C) Where large towns are likely to be.
D) Where food shortages take place.
16. A) To provide good living standards in their towns.
B) To balance their economic developments.
C) To get money to buy food from other countries.
D) To extend facilities to their agricultural land.
17. A) Industrialization.
B) Overpopulation.
C) Food shortage.
D) Land shortage.

Passage Three .
Questions 18 to 20 are based on the passage you have just heard.
18. A) Work through college.

B) Study a lot.

C) Be familiar with the course syllabus.

D) Keep up with assigned reading.
19. A) When a course syllabus is passed out.

B) Throughout the semester.

C) When the examination week is coming.

D) When they are reminded by their professors.
20. A) To help students who fall behind.

B) To help students who have difficulty in feading.

C) To help students create activities.

D) To help students form good study habits.

Test 3

Part I Listening Comprehension
Section A
Directions: In this section, you will hear three conversations. At the end of each conversation ,

several questions will be asked about what was said. Both the conversation and the questions will be
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spoken only once. After each question there will be a pause. During the pause, you must read the
four choices marked A), B), C) and D), decide which is the best answer. Then mark the

corresponding letter on the Answer Sheet with a single line through the cenire.

Conversation One
Questions 1 to 3 are based on the conversation you have just heard.
1. A) Working hard.

B) Being successful.
C) Being beautiful.
D) Having humble beginnings.

2. A) Revenue generated from tours.
B) Taxes.
C) Management fees.
D) Agent fees.

3. A) Oprah is the model of the multi-platform celebrity.
B) Oprah is worth $1.5 billion.
C) Everyone else follows her example.

D) Oprah signs her name for everyone who admires her.

Conversation Two
Questions 4 to 6 are based on the conversation you have just heard.
4. A) Parent and child.
B) Friends.
C) Teacher and student.
D) Boss and employee.
5. A) He makes Mary happy.
B) He is considerate.
C) He has wonderful manners.
D) He is tolerant.
6. A) Because Ed is an ex-con.
B) Because Ed broke up with her.
C) Because Ed used to have a girlfriend and he loved her very much.

D) Because Ed once married another girl.

Conversation Three
Questions 7 to 10 are based on the conversation you have just heard.
7. A) Listening.
B) Speaking.

C) Writing.

D) Reading.
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8. A) Language skills.
B) Planning.
C) Length of service.
D) Salary.
9. A) People are less formal at work in Germany.
B) Business people have better language skills in Britain.
C) People stay shorter with the same company in Britain.
D) People take a far more short-term view in Germany.
10. A) He is British.
B) He has worked in Germany for a period of time.
C) He seldom got involved in activities with people from the company in Germany.

D) He has worked in Britain for at least ten years.

Section B

Directions: In this section, you will hear three passages. At the end of each passage, several
questions will be asked about what was said. Both the passage and the questions will be spoken only
once. After each question there will be a pause. During the pause, you must read the four choices
marked A), B), C) and D), decide which is the best answer. Then mark the corresponding letter

on the Answer Sheet with a single line through the centre.

Passage One
Questions 11 to 13 are based on the passage you have Just heard.
11. A) To monitor the education and healthy development of children.
B) To study which experiences can influence healthy development in human beings.
C) To research how the first years of a child’s life influence later development.
D) To study how mothers can influence social development in their children.
12. A) Babies are strongly influenced by their environment.
B) Newborn babies liked the story they heard while they were still inside their mothers.
C) Newborn babies can recognize sounds they heard before they were born.
D) A baby will cry if her mother does something the baby dislikes.
13. A) How babies get the best care possible.
B) Babies are able to learn things when they are five or six months old.
C) Babies can learn before they are born.

D) How babies communicate with other humans.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) More than half of all people live in cities now.
B) Urbanization has a huge influence on human health and the quality of the environment.

C) Half of the people who live in cities now live in areas of poverty and slums.
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D) The international community has soon recognized the growth of urban poverty.
15. A) Sixty million people.

B) Sixteen million people.

C) Three billion people.

D) One billion people.
16. A) Drought.

B) Earthquake.

C) Floods.

D) Climate change.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) The United States government, foreign governments and schools.
B) The United States government, foreign governments and the Fulbrighters.
C) The United States government, schools and the Fulbrighters.
D) Foreign governments, schools and the Fulbrighters.
18. A) 6,000.
B) 270,000.
C) 150,000.
D) 460,000.
19. A) 1948,
B) 1946.
C) 1966.
D) 1968.
20. A) To bring foreign graduate students to study and do research at an American college or
university.
B) To bring foreign experts to speak and do research for up to a year in America.
C) To exchange world leaders.

D) To exchange teachers.
Test 4

Part I Listening Comprehension

Section A

Directions: In this section, you will hear three conversations. At the end of each conversation ,
several questions will be asked about what was said. Both the conversation and the questions will be
spoken only once. After each question there will be a pause. During the pause, you must read the
four choices marked A), B), C) and D), decide which is the best answer. Then mark the

corresponding letter on the Answer Sheet with a single line through the centre.



B—% BB 11

Conversation One
Questions 1 to 3 are based on the conversation you have just heard.
1. A) Colleagues.
B) Friends.
C) Seller and buyer.
D) Boss and clerk.
2. A) They were mouldy or even worm-eaten.
B) There was a weight shortage of mushrooms.
C) The mushrooms were not packed according to the requirements.
D) The mushrooms were not labelled according to the requirements.
3. A) One pound in a plastic bag and thirteen bags in a carton.
B) One pound in a plastic bag and fifteen bags in a carton.
C) One pound in a plastic bag and thirty bags in a carton.
D) One pound in a plastic bag and fifty bags in a carton.

Conversation Two
Questions 4 to 6 are based on the conversation you have just heard.
4. A) In a library.
B) In a restaurant.
C) In a classroom.
D) In an office.
5. A) In China.
B) In Korea.
C) In South Africa.
D) In Latin America.
6. A) To find a distributor for Asia.
B) To establish a joint venture in Asia.
C) To find a distributor for Latin America.

D) To establish a joint venture in Latin America.

Conversation Three

Questions 7 to 10 are based on the conversation you have just heard.

7. A) The advantages of formula.
B) The advantages of breastfeeding.
C) The disadvantages of formula.
D) The disadvantages of breastfeeding.

8. A) Less than 60%.

B) Less than 16%.
C) Less than 26%.
D) Less than 21%.
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9. A) It is difficult for the working women to breastfeed.

10.

B) It is easy to get formula nowadays.
C) It is difficult to initiate breastfeeding.
D) Not everybody realizes the importance of breastfeeding.

A) Because cow’s milk has things that the baby cannot and should not digest.

B) Because cow’s milk hasn’t the absolute right amount of carbohydrates.
C) Because cow’s milk hasn’t the absolute right amount of proteins.

D) Because cow’s milk hasn’t the absolute right amount of vitamins.

Section B

Directions: In this section, you will hear three passages. At the end of each passage, several
questions will be asked about what was said. Both the passage and the questions will be spoken only
once. After each question there will be a pause. During the pause, you must read the four choices

marked A), B), C) and D), decide which is the best answer. Then mark the corresponding letter

on the Answer Sheet with a single line through the centre.

Passage One

Questions 11 to 13 are based on the passage you have just heard.

11.

12.

13.

A) To keep physically active.

B) To keep mentally active.

C) To kill time.

D) To make friends.

A) To offer advice for people wanting to start new programs.

B) To provide learning experiences for older Americans every year.

C) To provide travel and learning experiences for older Americans every year.

D) To provide travel experiences for older Americans every year.
A) Members in the programs need to write papers.

B) Members in the programs elect their leaders.

C) Members in the programs take no tests.

D) Members in the programs need to pay.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.

14.

15.

A) Seven hours a day for one hundred and eighty days.

B) Seven and one half hours a day for one hundred and forty four days.
C) Six hours a day for one hundred and eighty days.

D) Six and one half hours a day for one hundred and forty four days.
A) To enable students to go to the events.

B) To save money for school systems.

C) To enable students to go to doctors.



